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. STHHARA A B S RREME) RAL 0 2008 35 R M & £ 5845 = Paul Krugman
# A AT ¥ New York Times % 4% VA F &7 i : It's politically fashionable to rant
against government spending and demand fiscal responsibility. But right now,
increased government spending is just what the doctor ordered, and concerns
about the budget deficit should be put on hold. (Quoted from Paul Krugman’s
column in The New York Times, October 16, 2008)
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International financial (market) stability is an important type of international (or
global) public good. ¥ (%) Fl &/? #Hemigiiz - (10 o)
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(1) Ramsey rule for optimal taxation (5%)
(2) Club good (5%)
(3) Double-dividend hypothesis (5%)
(4) Median voter theorem (5%)
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4. (5%)F Co. offers its employees a bonus equal to 15% of the company's net income. The estimated net income
for the year is expected to be 5900,000. Prepare the general journal entry to record the employee bonus plan

Wexpense.

TS.(G%) G. Co. 2009 income statement included the following:

Profit on ordinary activities before taxation $1,106,300
Tax on profit on ordinary activities $331,612
Profit on ordinary activities after taxation $774,688

As a result of 2009 operations, the deferred tax liability account increased by $25,000.
a. Compute taxes paid to the government in 2009.

b.  Prepare the journal entry to record taxes on ordinary income for 2009.
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16. (15%)H Co. signs an agreement on January 1, 2009, to lease office equipment for a 5-year period. The
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lestimated useful life of the office equipment is 8 years. The market value of the office equipment is $2,350,000.

The lease agreement calls for lease payments of $550,400. The first payment is due on December 31, 2009, all

;Prepare journal entries to record:
a. thelease agreement on January 1, 2009
ib. .the first lease payment on December 31, 2009

C. the amortization of the leased asset on December 31, 2009

subsequent payments are made each December 31 thereafter. The interest rate stated in the lease agreement

is 8%. The present value of the lease payments is $2,197,580. At the end of the lease term, the equipment
reverts back to the lessor.
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. Show that f(r) = 2? is continuous everywhere.

2. Evaluate the derivatives &—g

(a) Let y = (1 — z)*.
(b) 22+ 22y + 3 = 3.

3. Calculate the approximate value of v¥/999 by using the total differential.

&

1
4. Define f(z) = / <dt for any = > 0. Let g(z) be the inverse of f(x} such that f(g(z)) = # for all z.
Show that ¢'(z) = g(m) for all 2.

5. Find the relative maximum value(g) of f(z) = f (£ + 2t)dt —
=3

6. Evaluate the integral f 2*(1 — z)*de.

largest integer that is less than or equal to z.

) dy
8. Solve the differential equation d—- {1+ y)(2+ z) with y =2 when z = 0.

0. Fmd all values of z for Wlnch the series Z (m i ) converges.

n=1

10. Find the area of the region enclosed by-the.eurves y =@, andy = Vx.

7. Evaluate the definite integral / |z|[[z]|dzwhere [[z]] denotes the Gamssian function, that is the -

G R M M 5 # X

@ B £ R

SRER R | A RAT N BHEARE R KR BRI T (Lo r R R I ER -
R T g
9. WA B A RE D - A LR TR E -




%a&ﬁﬂ

questlons You must provide the complete

”}:lvstlon, otherW1se, you do not get any eredit by

1 (10pomts)Suppese tha,tthe probability density function of a random variable

z has the following form:

Fo) s for0 <z <8,
—1"1) otherwise,

where ¢ is a constant. The question is: what is ¢ and also the value of Pr(2 <
z < 3)7

- .2. (10 points) If the joint probability density. function of 21 and Xo is defined as:

L [ 4X1 X9 for 0 < X3 <land 0 < X3 <1,
F(X1, Xa) = {O otherwise.

Calculate the joint probability density function of y3 = X /X5 and y2 = X1 X>.
3. (10 points) When you make inference, what is the definition of size, what
is the definition of povver? You may use a specific example to clarify your
understanding.
4. (10 points) Consider the standard regression.-model y; = z,3 + €, where
and x; are from cross-sectional survey data. How do you estimate and test the

coefficient (3 if €; is not homogenous?
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5. If the regressor in the staria’airdf;fllineaff'?flgg;f-es“sion- model is correlated with the

“errdt term;

5.1 (10 points) what hap._-f):'éns if you use the ordinary least squares (OLS) esti-
mator. |
5.2 (10 points) Provide an example for the question in 5.1, and give a suggestion

to solve this problem.

. You run the following regression model:

Y = Ap + Aj age + Ag education level + Az experience + Ay experience® + u,

where Y is log of hourly wage.

6.1 (10 points) How do you explain the estimate of Aq?

6.2 (10 points) If you want to prove there is discrimination against the people
living in the eastern part of a country, how do you modify the preceding

regression model and test.it?

7. If X1, Xo, ... is independent and identically distributed (i.i.d.) random variable

and B(X;) = p, Var(X3) <K< oo forallé.-Define Y7 = X1 +... + Xr.
7.1 (10 points) Prove as T' — oo, Y /T converge in mean square to 4.

7.2 (10 points) Prove as T — oo, Y7 /T converge in probability to u.
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